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QUESTION 1

Click the Exhibit button.

fmaster:0} [edit]
user@switch# show interfaces ge-0/0/1
unit 0O {
family ethernet-switching {
interface-mode access:
wvlan |{
members datar

fmaster:0} [edit]

user@switch# show protocols lldp-mned
interfarce ge-0/0/1;

fmaster:0} [edit]
user@switch# show switchk-options
voip {
interface ge-0/0/1.0 {
vlan voice;
forwarding-class expedited-forwarding;

}

Imaster:0} [edit]
useridswitch#%# snow wvlians
data {
vlan—-id 20;
13-interface irb.20;

}
voice |

vlan—-id 30;
}

You have a workstation and a VolP phone connected to port ge-0/0/1 on an access switch. Referring to the exhibit,
which two statements are true? (Choose two.)

A. Frames that exit interface ge-0/0/1 on the data VLAN will be tagged.

B. The phone will automatically be assigned a VLAN ID.
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C. Voice frames that enter interface ge-0/0/1 will be forwarded as expedited forwarding traffic.
D. All frames that exit interface ge-0/0/1 will belong to the data VLAN.

Correct Answer: AC

QUESTION 2

When configuring 802.1X authentication, what are three server fail fallback settings? (Choose three.)
A. log

B. sustain

C. permit

D. count

E. move

Correct Answer: BCE

QUESTION 3

Click the Exhibit button.
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userfswitch# run show dotlx interface detail

ge—-0/0/15.0

Role: ARuthenticator

Administrative state: Auto

Supplicant mode: Single-—Secure

Number of retries: 3

Quiet period: 60 seconds

Transmit pericd: 30 seconds

Mac Radius: Enabled

Mac Radius Restrict: Disabled

Reauthentication: Enabled

ConZigured Reauthentication interval: 3600 seconds

Supplicant timeout: 30 seconds

Server timeout: 30 seconds

Maximum EAPOL requests: 2

Gusst VLAN member: guest

Number of connected supplicants: 1

Supplicant: 50c58dbaedl6, 50:C5:B8D:BA:ED:16

Operational state: Authenticated
Backend Authentication state: Idle
Authentication method: Server-Fail Vlan
Authenticated VLAN: guest
Session Reauth interval: 3600 seconds
Reauthentication due in 3393 seconds

Referring to the exhibit, which statement is true?

A. Only 802.1X authentication will be used for devices connecting to ge-0/0/15.

B. Additional users will automatically be allowed to connect to ge-0/0/15.

C. The current device is authenticated using MAC RADIUS.

D. The current device was allowed after authentication attempts to the RADIUS server failed.

Correct Answer: D

QUESTION 4

Your network has Junos Fusion configured with MX960 routers as aggregation devices (AD) and QFX5100 switches as
satellite devices (SD).

Which two statements are correct in this scenario? (Choose two.)

A. All SDs connected to a single AD must use the same software version.
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B. SDs are added to the AD by configuring the cascade port on the AD.
C. The Fusion extended ports are configured on the SDs.
D. The AD runs the Junos software for all its connected SDs.

Correct Answer: BC

QUESTION 5

You are implementing 802.1X authentication in your Layer 2 network. Each user will have a computer and a phone and
you must ensure that both devices are authenticated individually.

In this scenario, which supplicant mode should be used?
A. captive-portal

B. single

C. multiple

D. single-secure

Correct Answer: B
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